SOLUTION  :  Set A
Q1. Questions with "at least" are often great candidates for using the complement. 
That is: P(Event A occurs) = 1 - P(Event A does not occur) 

So, P(miss at least 1 test) = 1 - P(miss no tests) 

P(miss no tests) 
P(miss no tests) = P(no test on day 1 AND no test on day 2) 
= P(no test on day 1) X P(no test on day 2) 
= (4/5) X (4/5) 
= 16/25 


So, P(miss at least 1 test) = 1 - P(miss no tests) 
= 1 - 16/25
=9/25.
OR
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Sol.: No. of combinations of two consecutive alphabets of the word Calcutta is

(ca, al, le, cu, ut, 'I:r)\ =17

. Lo !

So ® probability (ta in this word) = 7
o |

or probability "L =
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Sol.: (i) We know

E(X) = [xf(x)dx
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Solution : W It is clear that X =10, 1, 2, 5 such that

) Yy 1 BouxTey 1
P(X=0)=—t=—; P(X=1)=—1—2=—
( ‘0(.‘4 6 ( ) IOC4 2

3 | 3 . 7
‘ﬂxznzl%}il:i; HX=n=J%§Ji=J_
c, 10 c, 30

Hence the required probability distribution is :-

X 0 1 2 3
win: £ 2 A L
X% 2 o 30
o HXS0=RX=m+ﬂx=0=l+1=E
62 3
(i) ﬂx<n=ﬂx=m=%
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Solution : Let the random variable X denote the number of boys in the family.
Hence X =0, 1, 2, 3. Also P(boy) = P(girl)=1/2
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Hence the required probability distribution is :-
X =0 1 2 3
P(X): 1/8 3/8 3/8 1/8 .

Also the distribution function is given by

|
[g when x=0
F(x) = when x=1
7
g when x=2
1 when x=3
Graphically :

Figure 2.4
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The total number of ways = |12.

Q) Consider 6 girls as 1 object, which can be arranged amongst themselves
in |6 ways. Also 7 objects can be arranged in |7 ways.

s s 7x16
Therefore the required probability = Ll "L = é

(1) The boys and girls can sit alternatively in |§ Ié ways. if we begin with
a boy and similarly they can sit alternatively in ﬁ {§ ways, if we begin

with a girl.
. 2
Therefore the required probability =

. Lg 462
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